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S-matrix

), S
ai :=0
b :

Sia = -l-L — t e~ J(BeLe+BaLy)
az 1:0

SZ! — -b-z-L = 1 e"'j(ﬁtlfi"‘ﬁd.l;d)
&1 3=0 _
b

S22 = -?-L = p, e~2iPaLe
Q92 =0

T-matrix

0 e-.’.ﬂiLt
= 1 l —T1
s t [—1‘1 1 ]

T =TTy

» eJBeL 0 1 1 ~ry | [ elPald 0
= eTIRE L b 0 e—JiBaLa

[ % el (BtLi+PqLy) =h e.i(ﬂtL:-ﬁch)]

.‘.'.'.{.1. e“i(ﬂtLt-ﬂJLd)_ %. e~J(Bi1Le+PsLy)

MM____

b) Find and plot S); and Sy;:

S11 = —ry e~ 2Pl

N — Ny 1“35

= = e = T35 = b5
angle of Syy =7 - 26,1, = n# — 9 (%\1) (1)(10pm) = x — 1251!"“
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Flgure 3.1b. Phase and magnitude of S5y
Soy =t eI PeletBPaly
1Su] =t=1/1-+2=0.2831

~ 173.8um
A

angle of Sty = ~(BLe + Baa) = ~ 2= [(1)(10pm) + (3.5) (5]
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Figure 3.1b. Phase and magnitude of So1



